TRAFIMET®
Al140-p140®

i

1{.%

id
5

.

;5
T

i

Mo. Ref Code Description No. Ref. Ciode Description
PALDL OEZ3D Hared torch &m M14 21 11 POAi7-14 Fiias.14 Extemnded tip [
06231 Hard torch 6m cent. commector 3114917 Extended tip g 17
FAL10Z DE33I0 Hard torch 12Zm Mi14 x 1 J1149.19 Extended tip ¢ 1.9
06331 Hand torch 12m cent. conmector 12 POIMA0Z 50373 Retaining cap, long life
PALD3 o250 Machire torch 5m M14 x 1 13  PCIOSM131 §03E3 Contact retsining cap
PAL4S D451 Machine torch 6m cent conmector PCi0S/131 [ EEL T Contact retsining cap, Ma.life
Faio4 OE330 Machine torch 12m Mid x 1 ia w3 F1540 Spacer for contmct cutting
FAliE 06331 Machine torch 12Zm oent.conn. i3 w3g 31543 Large spacer for ocontact I:u‘l:ting
i PFLO4 DEZOD Hamd torch hesd iE Fis32 Spring holder protecon nt
is EAl131 DEO0D.ED O - Ring 17 Jigi1 Spacer spring for mode 31932
ib 07301 Handgrip complste with saitch 1B 31530 Spacer for comtact cutting, hand
ic 0730120 Switch 13 31531 Shizld cup, machine
id EO00E0 Front insulator 0 CwE 31937 Shield oup, hand max 304)
2 FFLOZ DE=00 Machine torch head 21 cwa 31538 Spacer for comtact cutting, hand
2a 03310 Machine handie 22 31539 Locking nut
3 05004 Diffusar 23 31574 Spacer for ectended tips High Amip.
4 FR10L 32333 Electrode 4 Wil 1510 SpECET Spring
3 PELOL 60030 Swirl ring 23  oviz §0370 Double pointed spacer
13 PD101-11 31134 Tip # 1.1 26 Cwid 0371 Crovem spacer
PDI0L-14 51133 Tip ¢ 1.4 17 oWz E0373 Sauging spacer
POI01-17 511356 Tip ¢ 1.7 2B 31533 Gouging spacer
PD101-13 31137 Tip # 1.9 29 ERED E03E9 Extractor for swirl I'inE
PO104-30 Jiise Gouging tip @ 3.0 30 &03E8 Wirench for slecirods
03003 Extended Diffusor 02220 Canle &m W13 1 1- Hand 1omck
PR11E 32330 Extended el=ctrode 04230 Cainle 1Zm M14 x 1 - Hand terch
PELDZ 60031 Insulating spacer 04222 Cainle Em M14 x 1 - Maching tesch
i FPD111 Jiias Extencied tip @ 1.1 [man. 304]) 02232 Cale 12m M14 x 1 - Machine torchk




